

Apartment in St Julian's



St Julian's, Sliema and St Julians Surroundings



€675,000

Reference No: 240171042-856

 Total Rooms: **6**

 Floor Area (m²) : **150**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - St Julian's

ST. JULIANS - APARTMENT - Served with a lift. Located in St. George's Bay close to all amenities. The layout comprises of circa 70sqm open plan Kitchen/Living/Dining, a Bathroom, 3 Bedrooms (master with Ensuite). Being sold freehold and furnished. Also price includes 2 car spaces in a private parking area for residents and 2 parking spaces for guests. Worth viewing the property. Contact the agent for more information.

Features

- ✓ Lift
- ✓ En Suite
- ✓ Electricity Utility
- ✓ PVC Piping
- ✓ Skirting
- ✓ Balcony
- ✓ Ceramic Floor
- ✓ Water Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ Double Glazed

Rooms

- ✓ Kitchen/Living/Dining : 8.5 x 8 m (68 m²)
- ✓ Double Bedroom : 3.4 x 6.3 m (21.42 m²)
- ✓ Double Bedroom : 3.6 x 3.3 m (11.88 m²)
- ✓ Double Bedroom : 2.9 x 3.5 m (10.15 m²)
- ✓ Hallway : 2.7 x 3.3 m (8.91 m²)
- ✓ Hallway : 1.7 x 5.9 m (10.03 m²)
- ✓ Bathroom : 2.2 x 2.2 m (4.84 m²)
- ✓ Bathroom Ensuite : 2.2 x 3.3 m (7.26 m²)
- ✓ Open Space : 1.5 x 2.7 m (4.05 m²)

Gallery







Shaun Vassallo

RE/MAX Specialists - Tigne Point

M: 99846411

E: vassallos@remax.com.mt

T: 22265300

RE/MAX Specialists - Tigne Point

RU21A, The Point Shopping Mall, Tigne Point, Sliema, Malta